E,(. :

Part #

300-09297
500-09298
500-09299
500-10085
500-10036
500-10087
500-12123
500-12125
500-12127
500-12259

i

3/8 PUSH-NUT BOLT RETAINER
7/16 PUSH-NUT BOLT RETAINER
1/2 PUSH-NUT BOLT RETAINER
5/32 PUSH-NUT BOLT RETAINER
1/4 PUSH-NUT BOLT RETAINER
5/16 PUSH-NUT BOLT RETAINER
6 X 1.0MM METRIC PUSH-NUT
8 X 1.25MM METRIC PUSH-NUT
12 x 1.75mm metric push-nut
8MM PUSH-NUT

500-02895
500-02896
500-02897
500-02402
500-03403
500-02404
500-02405
500-10733

THREAD CUTTERS
1/85TUD

3/16 STUD

1/4 5TUD

3/16 STUD

1/8 5TUD

3/16 STUD

1/4 5TUD

5/16 THRD CUTTING NUT W/SLR (DB370)

S

500-05586
500-05539

1/4-20 ) TYPE CAGE NUT
5/16-18 ) TYPE CAGE NUT

500-018%96
500-01899
500-01512
500-01914
500-02039
500-02092

PUSH OM RETAINERS

500-02535
300-02357
500-02558
500-03975
500-03578
500-08858

500-10773
500-02798

2-56 SCR SPEED NUT 500-08862 3/325TUD
8-32 FLAT TYPE SPEEDNUT 500-08863 1/8 5TUD
#12 SMS SPEED NUT 500-08364 5/325TUD
3/32 STUD SIZE SPEED NUT 500-08865 3/16 STUD
6-32 SCR SPEED NUT 500-08868 1/45TUD
10-24 SCR SPEED NUT 500-08869 5/16 STUD
500-10374 3/8 5TUD
500-10375 1/25TUD
2.
PAL NUTS TEE NUTS
8-32 PALNUT 500-11324 rlj'él»—20
10-24 PAL NUT 500-11331 032
10-24 PAL NUT

3/8-24 HEX PAL NUT
7{16-20 HEX PAL NUT
1/2-20 HEX PAL NUT

1/4-20 CAGE NUT
5/16-18 CAGE NUT

500-01906
500-02098
500-2099

500-02565
500-02595
500-02776
500-05854
500-10073
500-11293
500-11431
500-13206

100 STUD SIZE SPEED NUT
1/16 5TUD SPEED NUT
1/8 STUD SPEED NUT

BARREL NUTS

3/16 BRL TYPE SPEED NUT

1/8 BRL TYPE SPEED NUT (DB370)
3/32 BRLTYPE SPEED NUT

1/8 BRL TYPE SPEED NUT

3/16 BRL TYPE SPEED NUT

3/32 BRL TYPE SPEED NUT

3/16 BRL TYPE SPEED NUT
YW/AUDI BRL NUT



NUTS

SERRATED
g 500-14867  8-32 SERR FLANGE NUT . 500-12595 M6-1.0 Loose washer
g 500-14869  10-32 SERR FLANGE NUT ‘ 500-14855 SMMX1.0 SPIN LOCK NUT

&O 50012873 102458RR FLANGENUT ‘ 500-15326 M5-0.8 WASHER NUT

@ 500-14870  1/4-20 SERR LARGE FLANGE NUT ZINC . 500-15329 MM WASHER NUT

g 500-14871  5/16-18 SERR LARGE FLANGE NUT ZINC 13/16 OD . 500-15334 M8-1.25 WASHER NUT 19MM OD
@ 500-14872  3/8-16 SERR LARGE FLANGE NUTZINC 29/32 0D . 500-15335 3-1.25MM BELLEVILLE WASHER NUT
& 50014874 1/4-20SERRATED FLANGENUTZINC  19/3200

SO 50014875  5/16-18 SERRATED FLANGE NUTZINC  11/16 0D

& © 50014576 3/3-16SERRATED FLANGENUTZINC  3/40D “ 500-05586 1/4-20 ) TYPE CAGE NUT

& O 0014877 7/16-14 sERRATED FLANGE NUT ZINC ’ 500-05589  5/16-18 ) TYPE CAGE NUT
& 500-17084  1/2-13 SERR FLG NUT ZINC 10D

& 0083012 3/3-24 SERRATED FLANGENUTZINC  serrated

‘ 500-14855  GMMX1.0SPIN LOCK NUT serrated black

‘ 500-14856 MM X 1.25 SPIN LOCK NUT serrated Black

@ 500-15316 6-1.0MM FLANGE LOCK NUT serrated zinc pltd
@ 500-16769  M6-1.0 SERR FLANGE NUT

& 500-11644 MM HEX FLANGED NUT smaoth black
& 500-11645  10MM HEX FLANGED NUT smooth black

@, 500-16470  10MMXL.25 SPIN LOCK NUT
@ 500-16830  SERR FLG NUT M8-1.25 17MM OD {DB370)

o™

H o m o

WELL NUTS

500-13004

500-13005

500-13007

500-13008

500-13009

500-13010

500-13011

500-10773

1/4-20 WELL NUT

8-32 WELL NUT

10-32 WELLNUT X 1/2 LG

10-32 WELLNUT X 1 LG

10-32 WELL NUT X 9/16 LG

1/4-20 WELLNUT X 7/8 LG

5/16-18 WELLNUT X 3/4 LG

1/4-20 CAGE NUT

JACK NUT

500-12995

500-12999

500-13014

500-13016

1/4-20 SPEC PURP JACK NUT

6MM X 1 SPEC PURP JACK NUT

10-24 X .716 JACK NUT

1/4-20 X .731 JACK NUT



BOLTS

T — <=0 = «p R_-¢
i JE 2

500-09420

500-10823

500-12064

500-12067

500-12160

500-12232

500-10362

500-12324

500-12336

500-12343

500-16826

500-17035

500-17930

500-18354

1/4-20 X 1 HEX HD SEMS DOG PT (DB370)

1/4-20 X 7/8 HX HD SEMS DOG PT (DB370)

6 X 1.0 X 16MM HX HD SEMS SCREW

6-1.0 X 20MM SEMS HWH SCREW
6X1.0X22MM HX DOG PT SEMS SCR (DB370)
5X0.8X20MM HX HD DOG PT SEMS (DB370)
5/16-18 X13/16 HWH BODY BOLT (DB370)
5/16-18 X13/16 HWH BODY BOLT [DB370)
BLK HX FLG HD BODY BOLT (DB370)

BLK PHOS HEX FLG B

Y BOLT (DB370)

M8-1.25 X 35MM HWH BODY BOLT (DB370)

5/16-18 X 1-1/16 HEX HD SEMS BODY BOLT

MG-1.0 X 20MM SLTD HWH ZINC (DB370)

M6 X 16 TAPPING SCREW *DB425*

* 500-11110

h 500-11641

%

T
?
’
T

4

e
?
1'Ol'-

f

o

500-11109

500-11320

500-11935

500-12057

500-12065

500-12066

500-12068

500-12333

500-12351

500-12693

500-13231

500-13613

500-13614

500-13618

500-13619

500-16828

500-18416

500-15783

3/8 X 1 SEMS HWH BODY BOLT (DB370)

3/8 X 1-1/2 SEMS HWH BODY BOLT (DB370)

5/16 X 1 SEMS HWH BODY BOLT (DB370)
10 X 40MM SEMS HWH BODY BOLT (DB370)
6.3MM X 1SEMS HEX WASH. HD.

6.3 X 16MM SEMS HWH MACH SCREW
6MM X 25MM HEX HD SEMS (DB370)
MG-1.0 X 25 HEX HD SEMS (DB370)

M6 X 30 HEX HD SEMS BLACK

BLK PHOS LOOSE WASHER SMS (DB370)
M6.3 X 20 HX WSHR HD SEMS T.5. (DB370)

6 X 20MM SEMS HWH BODY BOLT (DB370)
HWH W/NYL WASH BODY BOLT 1/4-20 X 7/8
8M-1.25 X 25MM SEMS (DB370)

8-1.25 X 30MM METRIC HX SEMS (DB370)
6X1.0X30MM HX HD SEMS SCREW (DB370)
M10-1.50 X 30MM HX HD BDY BOLT (DB370)
M10-1.50 X 30MM HX HD BDY BOLT (DB370)
M6-1.0 X 35 HX HD BODY BOLT (DB370)

HEX HD SEMS 3/4 0.D. PHOS 5/16-18 X 7/8

T
-

500-11639

500-17316

169-9041

169-9045

169-3048

169-9147

169-9207

8 X 25MM HEX FLANGE BODY BOLT

HEX FLG LP SCREW M6-1.0 X 16 (DB370)

M6-1.0 X 10MM FLG BOLT 10.9 ZP DIN 6921

M6-1.0 X 16MM FLG BOLT 10.9 ZP DIN 6921

MG-1.0 X 25MM FLG BOLT 10.9 ZP DIN 6921

M10-1.5 X 20MM FLG BOLT 10.9 BLK DIN 6921

M12-1.75 X 20MM FLG BOLT 10.9 BLK DIN 6921

500-05242

500-05243

500-05246

500-09853

500-10078

500-16986

172-0154

172-0156

BUMPER BOLT 7/16-14 X 1-1/4 (DB370)

7/16 X 1-1/2 RD HD BUMPER BOLT

1/2X 1-1/2 RD HD BUMPER BOLT {DB370)
7/16 X 1-1/2 RD HD BUMPER BOLT

1/2 X 1-1/2 RD HD BUMPER BOLT {DB370)
5/16 X 3/4 PAN BUMPER BOLT

M10-1.5 X 40 CARRIAGE BOLT 8.8 ZINC

M10-1.5 X 50 CARRIAGE BOLT 8.8 ZINC



Fart#

500-02772
500-02773
500-03467
500-03537
500-11786
500-11787
500-11788
500-11789
500-11730
500-11791
500-11792

S00-01423
S00-01483
S00-01717
S00-01794
S00-017396
S00-01799

S00-02027
S00-02632
S00-02710
S00-02711
S00-02713
S00-02715
S00-02722
S00-02724
S00-02725
S00-10171

8 X 1 CTSK W/WASHER FIN 5CR
8% 1-1/4 CTSK W/WASH FIN SCR
10 X 1 #8 HD CTSK FIN 5CR

6% 5/8 CTSK FIN SCR

6 X 1 BLK PH OV TRIM SCR

8% 5/8 BLK PH OV TRIM SCR

8 X 3/4 BLK PH OV TRIM SCR

B X 1BLKPH OV TRIM SCR

8% 1-1/4 BLK PH OV TRIM SCR
10 X 3/4 BLK PH OV TRIM SCR
10 X 1 BLK PH OV TRIM 3CR

8 ¥ 1-1/4 #6 HD PH OV SMS
B X 1#6HDPH OV 3M3

10 X 3/4 #8 HD PH OV SMS
6% 3/4 PH OV SMS

G X 1PHOVSMS

8 X 3/4 #6 HD PH OV M5
8 X 7/8 #6 HD PH OV 5M5S
8 X 1/2 #6 HD PH OV 5M5
B X 2#6 HD OV 3M3

8 X 3/4 PH OV SM3

8 X 7/8 #6 HD PH OV 5M5
BX1PHOVIMS

8 X 1-1/8 PH OV 5M5S

10 X 1/2 PH OV 5M5

10 X 5/8 #8 HD PH OV SMS
10 X 5/8 PH OV 5M5

8% 1-1/2 BLK PH OV SMS

1 bbb,

500-05651
500-10172
500-10173
500-10174
500-10175
500-10176
500-10177
500-10178
500-10179

6% 1/2 #4 HD PH OV SM5S

8% 1/2 BLK PH FLT SM3

B X 1/2 #6 HD BLK PH FLT SM3
B X 3/4 #6 HD BLK PH FLT SM3
B X 3/4 BLK PH FLT SM3

B 1#6HD BLK PH FLT SM5
BX¥ 1BLKPHFLT SM5

8 1-1/4 #6 HD BLK PH FLT SM3
8 1-1/4 BLK PH FLT SMS

i

L ey

Tek
500-11450
500-11451
500-11455
500-11456

300-02727
S00-02728
300-02730
300-02731
S00-02733
300-02736
S00-03069
300-03203
300-03204
300-03205
300-10162
300-10164
300-10163
300-10166
300-10167
500-10168

500-10180
500-10181
500-10182
500-10183
500-11917
500-11919
500-11920
500-11921
500-11922
500-11924
500-11923
500-12799
500-17459
500-20455

BK3/4 CTSK TEK FINISH SCREW

B X 1PHILOVAL SEMS TEKS CHRM
8% 3/4 CTSK TEK FIN SCR

B X 1 CTSK TEK FIN 5CR

10 X 3/4 W/2 HD PHILL OV SMS
10 % 3/4 PH OV SM3

10 X 1#8 HD PH OV SMS

10X 1 PH OV M3

10 X 1-1/4 PH OV SMS

6% 5/16 #4 HD PH FLT SM5

4% 3/4 PH OV SMS

B X 2-1/4 #6 HD PH OV SMS

8% 2-1/2 #6 HD PH OV SMS

X 2-1/2 PH OV 5M5

£ X 1/2 #6 HD BLK PH OV SMS
£ X 3/4 #6 HD BLK PH OV SMS
£ X 3/4 BLK PH OV SMS

B X 1#6 HD BLK PH OV SMS

B X 1BLKPH OV SMS

B 1-1/4 #6 HD BLK PH OV SMS

€ -

B 1/2 BLK PH PAN SM3

B 3/4 BLK PH PAN SM3

B X 1BLKPH PAN SMS

B8 1-1/4 BLK PH PAN SMS

63 1/2 BLK PH PAN SMS

6% 1 BLK PH PAN SM5

6 1-1/4 BLK PH PAN SM3

10 ¥ 1/2 BLK PH PAN SMS

10 ¥ 3/4 BLK PH PAN SM3

10 ¥ 1-1/4 BLK PH PAN SMS

10 X 1 BLK PH PAN SMS

B8 1-1/2 PHIL PAN HD TS BLACK

M4.8- X 16MM PHIL TRUSS T5 BLK

4.8 % 20 PH TRUSS HEAD BODY SCREW IBLK
'

500-12060
500-12062
500-12213
500-12214
500-12215
500-12216
500-12217
500-12218
500-12739
500-125952
500-12953
500-12954
500-12955
500-13026
500-15541

S00-10170
500-10652
S00-11084
S00-11085
S00-11086
S00-11087
S00-11088
S00-11080
500-11091
S00-11082
S00-11093
S00-12736
S00-12757

4.2 X 20MM PH WASH HD 5CR

4.2 X 10MM POSI RD WASH HD SCR
#8 X 1/2 BLK FLAT WASHR HD T/S
8% 5/8 BLK OX PHILL RD W/HD

8 X 3/4 PHILL RD WASHER HD SM3
B X 1PHILL RD WASH HD 3M35

8% 1-1/4 PHILL RD WASH HD SMS
8% 1-1/2 PHILL RD WASH HD SMS
M4.2-1.41 X 12mm SEMS3 TAPPING SCREW
#6 X 1 PH FT WH SCREW

10 X 3/4 RD WASH/HD SMS BLK OX
10X1 RD WASH/HD 5MS BLK OX
#10X11/4 PH FT WH HD SCREW

8 ¥ 3/4 PHIL WASHER HD TS BLK
4.2 X 12MM PHIL TRUSS TAP SCREW

8% 1-1/2 #6 HD BLK PH OV SMS
8 X 5/8 BLK PH OV WASH HD SCR
10X 1/2 BLK PH QV 5M5

10 X 1/2 #8HD PHIL BLK OX SCR
10 X 3/4 BLK PH OV 5M5

10 X 3/4 #8HD PHILL BLK OX SCR
10 % 1 BLK PH OV SM3

10 X 1-1/4 BLK PH OV SMS

10X 1/1/4 #8HD PH BLK O% SCR
10 X 1-1/2 BLK PH OV SMS

10X 11/2 #8HD PHIL BLK OX% SC
PHIL OVAL HD 6 ¥ 3/4 TS BLACK
PHIL OVAL HD T/5 6 X 1 BLACK

oo

500-11460
500-12095
500-15172
500-15774
500-17460
500-17650
500-18296
500-19006

B X 3/4 CTSK TEK FIN SCR

B 1/2 PHIL WSHR HD TEK ZINC

B 1/2 PHIL WSHR HD TEKS ZINC

#8 X 1/2 BLK PHIL WASHER TEK

#8 X 3/4 PHIL MOD TRUSS SELF DRILL ZINC
B 3/4 PHI RND WSHR HD SELF DRILL BLACK
BX 1ZINCPHIL WASHER HD TEK

M4 ¥ 25MM RND WSHR HD SELF DRILL BLACK



SPLIT TYPE

-4
=
—_—
—p—
e
—
—_—
——
——
——
P —
.
-
P
—t=
——
—
-——
——
-y
——
f—
— -
S
——
=f—

NYLON/NYLON
Part#
500-12092
500-12093
500-12094
500-12652
500-12653
500-13748
500-13750
500-13751
500-13753
500-13755
500-13767
500-13768
500-14023
500-14127
500-16834
500-16864
500-17006
500-17121
500-17410
500-17615
500-17639
500-18108
S500-1B167
500-19376
500-20626
500-20627
500-20629
500-20741

500-20834

Diameter
1/4 ¥ .080-.375 MONO BLT

1/4 X .350-.625 GRIP STRUCTURAL RIVET ALL STEEL 8-1(

1/4 % .080-.375 GRIP STRUCTURAL RIVET ALL STEEL 8-6

RIVET STEEL 1/4 BLACK FORD

1/4 PEEL RIVET-BLACK (DB370)

BLK NYLON BLIND RIVETS [DB370)

BLK NYLON BLIND RIVET (DB370)

BLK NYLON BLIND RIVET (DB370)

BLK NYLON BLIND RIVET (DB370)

BLK NYLON BLIND RIVET (DB370)

AA 6-6 KLAMP-TITE RIVET Split Type

AA 6-7 KLAMP-TITE RIVET

NYLON BLIND RIVET (DB370)

3/16 BLK BUMPER RIVET FORD (DB3T70)

1/8 ALUM ELK RIVET X 1/8 - 3/16 GRIP (DE370)
SPLIT RIVET 3/16 ALUM GM APV (DB370)
BLACK RIVET ALUM/STL 5/32 DIA (DB370)
3/16 % 1/4 SPLIT RIVET BLK/ALU (DB370)
CLOSED END RIVET 3/16 ALUMIBLK [DB370)
1/8 SPECIALTY RIVET *DB425%

BLK ALUM BUMPER COVER RIVET (DB370)
1/4 PLASTIC RIVET {DB3TD)

AL/ST 1/4 ¥ 3/32-9/64 ALUM PEEL RIVET (DB370)
RIVET 5/32 (4MM) ALUM BLACK (DB370)
SPECIALTY RIVET *DB425*

SPECIALTY RIVET =DB425*

Grip
1/4%3/32-3/8

1/4 X 3/8-5/8
NO MORE

ST/ST 1/4 X 1/8-1/4
ALJST 1/4 X 3/32-1/8
13/64 X 1/8-15/64
1/4 % 5/32-13/32
1/4 % 5/32-13/32
17/64 X 3/32-3/16
13/64 X 15/64-25/64
3/16 % 3/32-3/8 Split Type
3/16 X 5/16-7/16 Split Type
15/64 X 5/32-5/16
3/16 % 3/8-1/2
1/8x1/8-3/16
3/16 % 3/64 - 11/32
5/32 % 1/4-3/8
3/16 % 5/64 - 15/64 Split Type
3/16 % 3/8 - 1/2 Closed End
1/B X 5/16 - 3/8
1/4% 3/16 - 3/8
1/4 % 5/32-3/8

ALJST 1/4 X 3/32-9/64

Flange Size Mterial
Steel
Steel
Aluminum
3/4 Flange Steel
1/2 Flange Alfst
15/32 Flange Black Nylon
21/32 Flange Black Nylon
1/2Flange  Black Nylon
23/32 Flange Black Nylon
15/32 Flange Black Nylon
7/16 Flange  Aluminum
7/16 Flange  Aluminum
11/16 Flange Black Nylon

4/16 Flange Black Aluminum
3/EFlange Black Aluminum
Steel Mandrel
3/BFlange Black Aluminum
15/32 Flange Black Aluminum
Steel Mandrel
7/16 Flange Black Aluminum

3/8Flange Black Aluminum
Black Aluminum
Steel Mandrel

11/16 Flange Black Aluminum

11/16 Flange Black Nylon

3/4Flange Black Aluminum

Steel Mandrel

ALAL5/32 X 1/8-11/32 SPLITTYPE  15/32 Flange Black Aluminum

AL/ST 3/16 X 1/8-5/16 W/PLASTIC CA 9/16 Flange

Aluminum

AL/ST 1/8 ¥ 3/64-3/16 W/PLASTIC CA 5/16 Flange Black Aluminum

SPECIALTY RIVET *DB425* ALL ALUM BLACK FINISH

w/fplastic cap

SPECIALTY RIVET *DB425*

SPECIALTY RIVET *DB425*

ALJAL 5/32 X 3/64-1/4 SPLIT TYPE
ALJAL 3/16 X 3/64-23/64 SPLIT TYPE 5/8 Flange

AL/ST 3/16 % 1/16-1/4 W/PLASTIC CA 9/16 Flange

7/16 Flange Black Aluminum

Black Aluminum

Aluminum
w/plastic cap



%

Part#
10621

11671

12565

12737

125992

13453

13470

15970

16017

18294

16695

18353

18848

18915

20130

20274

20338

21012

21189

TRIM PANEL CLIP (DB370)

FORD XMAS TREE FASTENER

TRIM PAMNEL FSTNR (DB370)

DOOR PANEL CLIP (DB370)

GM DOOR PANEL CLIP (DB370)

R QTR PNLRETAINING FSTNR
DOOR TRIM PNL FSTNR (DB370)

GM PU TRIM PML RETAINER (DB370)
GM PU TRIM PNL RETAINER

TRIM PANEL RETAINER

F DR TRIM PNL RET GM 90-91

GM PUSH RETAINER (DB370)

FORD TRIM PANEL RETAINER *DB425*
CHRYSLER TRIM PANEL RETAINER

FORD TRIM PANEL RET

CHRY DOOR PNL RETAINER USE W/ 20275

GM PANEL RETAINER

RETAINER TOYOTA & LEXUS BLACK NYLON

GM TRIM PANEL RETAINER

MOULDING CLIPS

Part #
& 16865

e~ 19115
= w7
19821
v 19822
20328

i o g

20358

7 20377
\ 20607

T 20774

.T 21016

t—— 21136

* 21200

21219

21230
o 21374
—_ 21739

21835

v 22015

T: 22345

i 5 2272

2744

e

2752

GARNISH CLIP - GM (DB370)

HONDA MOULDING CLIP (DB370)

GM ROCKER CLIP *DB425*

GM ROCKER PANEL CLIP

GM ROCKER CLIP *DB425*

AVALANCHE ROCKER CLIP

FORD PANEL CLIP

GM MLDG CLIP

GM PANEL CLIP

GM CLIP *DB425*

TOYOTA FENDER & BUMPER CLIP BLUE NYLON

HYUNDAI MOULDING CLIP WITH SEALER

GM MOULDING CLIP BLACK NYLON

FORD MOULDING CLIP NYLON

FORD MOULDING CLIP WHITE NYLON

GM MOULDING CLIP

GM MOULDING CLIP

CHRYSLER MOULDING CLIP

HYUNDAI & KIA MOULDING CLIP WITH SEALER

MNISSAN MOULDING CLIP

BODY BELT MLDG F5TNR

UNIV TEE BOLT MLDG CLIP (DB370)

UNIV TEE BOLT MLDG CLIP (DB370)

Part#
8853

14328

17339

18033

18877

19850

21334

11612

19728

17195

FORD WEATHER STRIP FASTENER

HONDA WEATHERSTRIP RETAIMER (DB370)

BLK NYLOMN WEATHERSTRIP RETNR (DB370)

CHRY WEATHER STRIP RETAIMER *DB425*

HONDA WEATHERSTRIP RETAIMER (DB370)

FORD WEATHERSTRIP RETAIMNER NAT. NYLON

FORD WEATHERSTRIP CLIP

WEATHERSTRIP FSTNR (DB370

TOYOTA COWL RETAINER *DB425*

GRILLE CLIP



) o o ] e | = ) | o ] i f ) i o ) ) | W] = | )

Fart
1083

1361

a0

12137

12571

12731

12766

12303

12933

14021

14036

14291

14736

4737

14767

14738

15367

15414

15473

15420

15543

1623138

17612

17E64

18297

12301

19723

19837

20132

[
=
px)
=
=

20338

20624

23937

Hale Size

4

Tmm

e

e

Tmim

5iE

a2

Tmm

Tmm

Smm

5116

Smim

Smm

5mm

14

Tmm

Smm

4

Tmim

amm

14

G116

Amm

14

Smm

Tmm

Tmim

Tmim

14

amm

Bmm

Tmm

4

BLK SHIELD RETAINER [DE370]

DOOR PAMNEL RETAIMER

NYLOM "CHRISTMAS TREE" FSTMNR
RAD APROM PRHL FSTHR [DEIF0)
FACIA TO BUMPER FSTMR [DEZ70]
SEAT BACK RETAIMER [DEZTD]
FAMEL FETMR [DE270)

TRIM PMNL FSTRR [DE3T)

NYLOM REAR 'WIND MLDG FASTEMER
FACIA RETAINER [DE370)

F HOOD SE&L RETAINER GM [DE370)
ACURA & HOMNDA RETAIMIMNG CLIF [DE37T0)
TOYOTA RETAIMIMG CLIP [DE270]
TOYOTA RETAIMIMG CLIF [DE270]

EMGIME PMOUNT HEAT SHIELD RETAIMER

TOYOTA RETAIMIMG CLIP [DE370]

BLK NYLON PANEL RETAIMER [DB370)

S IR CIRE

=

= RS JRPSS

RAD YOKE SHLD TO SUFPORT FASTHNR [DE?0)

FORD TRIM PANEL RETAINER [DE370)
UMY, XMAS TREE

GM & CHRYSLER FASCIS RETAINER [DE3TO)
GM & CHR'YSLER TRIM PANEL RET (DEZ70]
FORD & CHRY TRIM PRL RETAIMER [DE2T0)
GM FPAMEL RETAIMER (DE370]

TOYOTA RETAIMIMG CLIP [DE370)

GM EBUMFER FASCLA RETAIMER

TOWOTA RETAINER "DE425"

CHRY TRIM PANEL RETAIMNER "DE425"
FORD MUD FLAF RETAIMER "DE425

GM RETAINER

FORD HOODINSUL. RETAIMER

FORD FEMDER FLARE RETAINER

FORD TRUCK FEMDER FLARE RETAIMER

oH

L
¥
+
+
¥
¥
.ﬁ
&
¥
-
*
&
¥
¥

Fart #
12567

12757

13933

12936

400

14011

413

14020

14260

14753

14352

14337

15042

15045

16000

16353

17057

17143 25/64[10MM BLE NYLOM BUMPER F ASCIA RTNR [DEZ70]

17144 25/64[10MM BLE NYLOM BUMPER F ASCIA RTNR [DEZ70]

17216

1Fazz

Hale Size
4

w2

4

MUD SKIRT FSTHR [DB370)
FACIA FSTNR [DE370)

GM PUSH-TYPE RETAINER [DEZ70)

SE32 [TMIM) G PUSH-TYPE RETAINER [DET0]

e

aiE

BiE

4

GM FASCIA PUSH TYPE RETAIMER [DEZ70]
GM FUSH TYFE RETAIMER [DE370)
SPLASH SHIELDYFACIA RETAINER [DBE270)

SPLASH SHIELDYFACIA RETAINER [DE370)

32 [YMM) TOYOTA PUSH-TYPE RETAIMER [DB370)

4

4

a6

w2

w2

BiE

66

A6

a6

BiE

GM RADIATR SHROUD RETAINER [DE3T0)

BLE MYLOMSCREW TYFPE RETAINER [DE370)

BLE MYLOMSCREW TYFPE RETAINER [DE370]

EUMPER FASCIA RETAINER
GM BEUMFER FASCIA RETAINER

HOMDA PUSH TYFE RETAINER [DEXT0)

MISSAN, MAZDA, FORD & K14 PUSH-TYFE RETAINEF

BLK FUSH TYPE RETAIMER [DE370]

BLE MYLOMPUSH TYPE RTMR [DEZF0)

ELE MYLOM ROCKER PAMEL RTMR [DEZT0)

1FZET 2BIE410MM ACURA FUSH TYFE RETAIMNER [DEIT0)

17373

17472

17e32

1213

BiE

BiE

66

1011

SPLASH SHELD PUSH-TYFE RETAINER [DBE3270)

MISEAN BUMPER FASCIA RETAIMNER [DE2TD)

PUSH-TYPE RETAIMNER [DE370)

BLE MYLOMPUSH TYPE RETMR [DE37T0)

12873 2364[3MM TOYOT A PUSH-TYFE RETAINER [DEZ70)

12888 932 [TMM) TOYOTA FEMDR LINER RET.

12894

131s

153233

13233

13246

159274

13422

13453

19815

19639

159738

13201

4

aiE

10r04

BiE

1011

Ak

a6

aran

aran

EMM

|

4

FORD PUSH-TYPE RETAINER
HOMDE FUSH-TYFE RETAIMER [DEZ70]

ACURA FUSH-TYFE RETAINER [DET0]

ACURA & HOMDA PUSH-TYFE RETAIMNER [DEZ70)

MISSAN PUSH-TYPE RETAIMER [DE370)
MISSAN PUSH-TYPE RETAIMER [DE370)
CHRYSLER PUSH-TYPE RETAINER [DEZ70)
HOMD& PUSH TYFPE RETAINER [DE3T0]
GM BUMPER COVER RETAIMER "DE425”
GM PUSH TYFE RET. [DEZ70]

TOYOTA BUMFER COVER RET.

GM WHEEL OFEMING RETAIMER "DE42E5"

=

H W o W
WP o o = ap = &

.

=
L=

o *

M H P b iy
Ha @) P o H oW

Hale Size
20130 MM FORD TRIM PARMEL RET
20131 EMM FORDPUSHRET
20247 amm HOMDA & MITS. PUSH RETAIMER [DBE370]

20274 114 [E.5MM) CHRY DOOR FRL RETAINER USE W 20275

20327 amm MISZAMN PUSHFASTENER

20335 M2 [TMM) TOYOTA FUSH RETAINER

20248 2MM MISSAMFUSHFASTERNER
20343 616 MISSANBUMPER CLIF RETAIMER
20352 8MM HOMNDA FUSHFASTENER

20458 W32 [FMM) CHRYSLER PUSHFASTEMER

20832 8MM GM/YFORD PUSHFASTEMER

20863 W32 [TMM) TOYOTA PUSH RETAIMNER "DE425"

20880 144 [E5MM) GM PUSH-TYFE RETAINER - ELACK MYLOM
20889 2164 [8.5m) GM FUSH RETAIMNER "DE425°

20802 32 [TMM) TOYOTA PUSH RETAIMER "DE425"

20831

amm TOYOTA PUSH RETAIMER "DE425"

20953 616 MISSANE INFINITIFUSH-TYPE RETAINER
20955 W32 [FMM) TOYOTA RETAINER "DE425"
20986 25/64{10MM HOMDA RETAINER "DE425
20983 144 [E5MM) GM & FORD PUSH-TYPE RETAINER
20930 56 GM & CHRYS PUSH-TYPE RETAINER
20931 2164 (8.5m) GM FUSH-TYFE RETAINER
20932 64 (3.5m) GM PUSH-TYPE RETAINER
21012 2364 (30N RETAIMER TOYOTA & LEXUS BLACK WYLOM
21103 1364{5MM) TOYOTA PUSH TYPE RETAINER
21146 616 KA PUSH-TYPE RETAIMER BELACK NYLOM
21173 25/64[10MM ACURA & HONDA PUSH-TYFE RETAINER ELACK MYLON
21132 56 MISSANE INFINITIFUSH-TYPE RETAINER ELACE MYLOMN
21201 932 [7MM) TOYOTA & LEXUS PUSH-TYFE RETAINER ELACK MYLOM
21328 104 [B5MM) HYUMNDAL KIS FUSH TYFE RETAINER
21420 25E4(10MM SUBARU FUSH TYFE RETAINER
21630

B SUBARUFUSH TYFE RETAINER

21651 616 HOMDA FUSH TYPE RETAINER

21658 1564 [ERM) MITSUBISHI PUSH TYPE RETAINER- ELACK NYLORN
21706 25/64{10MM ACURA & HOMDA FUSH TYPE RETAIMER
22033

56 MISSANE INFINITIFUSH-TYPE RETAINER

22252 56 HYUNDALE KIS PUSH-TYPE RETAIMER



fﬁ[‘ﬂ@?

Part#
11

1267

2272

2288

2943

3609

3610

3611

3612

3613

3614

5889 DISC

5890 DISC

7595

8892

8365

10701

11863

12134

15518

15940

18153

18262

16421

15752

20368

21754

DOOR HNDL CLIP

ESCUTCHEN SPRING

BODY BELT MLDG FSTNR

INSIDE DOOR HNDL CLIP (DB370)

UNIV MLDG CLIP

5/32 R THROTTLE ROD CLIP

5/32 LTHROTTLE ROD CLIP

3/16 R THROTTLE ROD CLIP

3/16 LTHROTTLE ROD CLIP

1/4 R THROTTLE ROD CLIP

1/4 LTHROTTLE ROD CLIP

UNIVERSAL MLDG. CLIP

UNIV MLDG FSTNR

MEDIUM SIZE HOG RING.

5/16 X 1 HAIR PIN COTTER

UNIVERSAL MOULDING FASTENER (DB370)

REVEAL MLDG FSTNR

TRIM FASTENER (DB370)

TRIM PANEL FSTHR (DB370)

GM DOOR LOCK ROD CLIP (DB370)

HEADLIGHT RET CLIP (DB370)

#8 GM RADIATOR GRILLE NUT (DB370)

GM RADIATOR GRILLE RETAINER (DB370)

FORD FRONT DOOR SCUFF PLATE RETAINER

FORD DOOR BELT MOULDING CLIP (DB370)

GM TRIM PAMEL NUT M&-1.0

GM SPECIALTY PUSH-IN NUT



.
)

&% | *4@#**«**”

Part #
15783

16454

17164

13301

18338

19421

19850

19851

20437

20672

20880

20933

20966

20989

20950

20991

20992

21016

21103

21107

21136

21146

21173

HEX HD SEMS 3/4 0.D. PHOS 5/16-18 X 7/8

RUBBER GROMMET 1/4 BORE DIA 1/2 OD

FORD REAR LIGHT WIRING RETAINER 3/8 X 1-7/16 HD

GM BUMPER FASCIA RETAINER

EXTRUDED U NUT M5-.8 SCRW 5Z .60MM-3.8MM RANGE

FORD FRONT DOCR SCUFF PLATE RETAINER

FORD WEATHERSTRIP RETAINER MAT. NYLON

WIRE LOOM ROUTING CLIP 1,/2 1.D. 11/16 O.D.

TOYOTA TRIM PANEL RETAINER 20MM TOTAL LGTH

NISSAN COWLVENT RETAINER 13MM STM LGTH

GM PUSH-TYPE RETAIMER - BLACK NYLON

MISSAN & INFINITI PUSH-TYPE RETAINER

CHRYSLER PUSH-TYPE RETAINER

GM & FORD PUSH-TYPE RETAINER

GM & CHRYS PUSH-TYPE RETAIMER

GM PUSH-TYPE RETAINER

GM PUSH-TYPE RETAINER

TOYOTA FENDER & BUMPER CLIP BLUE NYLON

TOYOTA PUSH TYPE RETAINER

ACURA & HONDA RETAINER

HYUMNDAI MOULDING CLIP WITH SEALER

KIA PUSH-TYPE RETAINER BLACK NYLOMN

ACURA & HONDA PUSH-TYPE RETAINER BLACK NYLON



1 QoN

*

|

o Hff 4 hfifPbd

21189

21192

21200

21201

21219

21230

21328

21334

21374

21387

21420

21530

21651

21658

21706

21739

21754

21835

22015

22039

22253

22345

23937

GM TRIM PANEL RETAINER

MISSAN & INFINITI PUSH-TYPE RETAINER BLACK NYLON

GM MOULDING CLIP BLACK NYLON

TOYOTA & LEXUS PUSH-TYPE RETAINER BLACK NYLON

FORD MOULDING CLIP NYLON

FORD MOULDING CLIP WHITE NYLON

HYUNDAI & KIA PUSH TYPE RETAINER

FORD WEATHERSTRIP CLIP

GM MOULDING CLIP

DOOR, INT. TRIM & INSTRUMENT PANEL FASTEMNER

SUBARU PUSH TYPE RETAINER

SUBARU PUSH TYPE RETAINER

HOMNDA PUSH TYPE RETAINER

MITSUBISHI PUSH TYPE RETAINER- BLACK NYLON

ACURA & HOMDA PUSH TYPE RETAINER

GM MOULDING CLIP

GM SPECIALTY PUSH-IN NUT

CHRYSLER MOULDING CLIP

HYUNDAI & KIA MOULDING CLIP WITH SEALER

MNISSAN & INFINITI PUSH-TYPE RETAINER

HYUNDAI & KIA PUSH-TYPE RETAINER

NISSAN MOULDING CLIP

FORD TRUCK FENDER FLARE RETAINER



